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TeopeTnyeckad YacTb

A A A
ABCONIOTHAsA CKOPOCTb: V=V +V
A\ A\ A\
ABCONIOTHOE YCKOpEeHMe: W=Ww, +Ww, +w,

Yckopehue Kopuonnca: |w,|=20.v, sin(o,,v,)
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Hantn abcontoTHy0 CKOpOCTb U
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PeweHue:

A\ A\ A
ABCONOTHAA CKOPOCTb: v =V +V,
OTHOCUTE/IbHasA CKOPOCTb:

W, ds dM M /
Vel = et =(4t) =4 m/c>0
dt dt
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AbCONOTHasA CKOPOCTb:
A A
Tk, v.1lv =

|§|=\/vr2+ve2 =4 +6> =52 =213 m/c
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YckopeHune Kopuoauca:
A

W, |=20,v, sin(w,,v,)

We|=2-1,5-4-5in90° =12 m/ ¢’

722

SEX

%O

~ [

S
///
%



3aaa4a 2.

/1aHo:

2 |

v, =t" M/c :
|

| wmlymy

o, =112 S
t=2c
OM =0,5m
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ABCONOTHAA CKOPOCTb: v =V +V,
OTHOCUTE/IbHAA CKOPOCTb: NpU t=2c¢
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AbCONOTHasA CKOPOCTb:
A A
T.K. v ™N v, =

|€‘:vr —v, =4-15=25m/c




YckopeHune Kopuoauca:
A .
we| =20V, sin(a,,v,)

Wwye|=2-3-4-5in90° = 24 n/ ¢




